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= J #E =58
5 ik e — COD¥#ER! |B(E#mH) g Hh S KI5 (Z2)
St.1 ExR-#ER - —
—RIEE _
Kig (°C)
XiE _[SE(C) =B P E 2KE il iR =Xz R
58 £l 24.0 21.3 - 75 3.5 - e |BER-M
78] ®Bh 18.0 22.0 — 9.5 1.5 BE BExfE-piEER -
98 £ 29.0 27.0 — 75 6.0 - ZxE-E |BER -
118 £l 19.0 20.5 - 75 6.0 - HE-EEEEER -
18] Bh 13.0 16.0 - 9.0 8.5 BE xE |BER-M
3] Bh 4.0 135 - 9.0 45 BE it |BES -
4FRIFIER
oH DO COD |XBEHE |h-~FHUH 2L=TX EX ]
(mg/1) (mg/1) | (MPN/100ml) | EH¥I & (me/l)]  (mg/I) (mg/1)
RElE| 1.8~83] 5.0LLE | 30LLF — JEiR H — —
EE(75%1E) = 8.1 1.7(2.0) = <05 0.28 0.020
55 == 8.2 8.4 1.6 - <0.5 0.26 0.026
= 8.2 7.7 2.0 - <0.5 - -
s hE - - - - - - -
of == 8.1 6.7 1.4 - <0.5 0.36 0.016
hE - - - - - - -
118 == 8.2 8.2 1.6 - <0.5 0.28 0.025
hE - - - - - - -
1A == 8.2 9.3 2.0 - <0.5 - -
hE - - - - - - -
3H EAE 8.1 8.2 1.8 - <0.5 0.23 0.013
e - - - - - - -
BEIEE (REDHEHAD
ISP INESS S A NE/RL|  #MFE fikéR |7L*LKkER| PCB
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| Z#EfE] 0.01LLF | JE#H | 0.01LLF | 0.05LLF | 0.01LLF [0.0005L0TF | JE#EH JERH |
E <0.002 - <0.005 <0.02 <0.001 <0.0005 = =
58] <0.002 - <0.005 <0.02 <0.001 <0.0005 - -
71H - - - - - - - -
98 - - - - - - - -
11 8] <0.002 - <0.005 <0.02 <0.001 <0.0005 - -
18 - - - - - - - -
38 - - - - - - - -
rOni| migke [1,2-0900( 1,1-C4an [ z-1,2-4(1,1,1-F)40] 1,1,2-ry4a | BJoAA
) o Iy IFLY | AAxTFLY oT4ay oT4y IFLY
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| B (] 0.02LLF [0.00260F | 0.004LLF | 0.02ELF [ 0.04LLF 1LLF 0.006LLF | 0.03LL'F
I <0.002 [ <0.0002 | <0.0004 <0.002 <0.004 <0.10 <0.0006 <0.003
5] <0.002 [ <0.0002 | <0.0004 <0.002 <0.004 <0.10 <0.0006 <0.003
71H - - - - - - - -
98 - - - - - - - -
118] <0.002 | <0.0002 | <0.0004 <0.002 <0.004 <0.10 <0.0006 <0.003
18 - - - - - - - -
38 - - - - - - - -




Th3o0a0(1,3->9n — N FARY TN .
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| B#E{E] 0.01LLF | 0.002LLF | 0.006 LF [ 0.003LLF | 0.02LLF | 0.01LLF 0.01LLF 10ELF
o <0.001 <0.0002 <0.0006 <0.0003 <0.002 <0.001 <0.001 0.17
5A <0.001 <0.0002 <0.0006 <0.0003 <0.002 <0.001 <0.001 0.15
1H - - - - - - - -
9H - - - - - - - -
118 <0.001 <0.0002 <0.0006 <0.0003 <0.002 <0.001 <0.001 0.18
18 - - - - - - - -
3A - - - — — — - -
ZTNDIEE
Ix/—) & SS 2EH |(yooks 77;'?;‘|L:\F
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
EHE - - 1 - - -
=R | - - 1 - - -
= - - 1 - - -
=] _ _ 2 _ _ _
9AH ; E — — — ~ _ _
=] _ _ 2 _ _ _
1A ; E — — — ~ _ _
E - - < - - -
=] _ _ 1 _ _ _
3A g — — — — — —
(4] BN . .
(mg/1) (mg/1) (mg/1)
EBTE] 16000 <0.01 0.01
58 E3E] 14000 <0.01 0.01
= 13000 — -
= 15000 - 0.01
9H th B — — =
118 xE 17000 <0.01 <0.01
= 17000 — -
= 18000 - <0.01
3A g — — —
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St.2 [ER-HEE - _
—RIEE _
Kig (°C)
XiE _[SE(C) =B P E 2KE il iR =Xz R
58 =l 24.0 21.3 - 13.5 4.0 - e |BER-W
78] ®Bh 17.5 22.0 — 75 2.0 BE ZE-X | BER -
98 £ 29.0 27.4 — 5.5 4.5 - xE-E |BER -
118 £ 19.0 20.5 - 6.0 35 — ZE-EGEEER -
18] Bh 13.0 16.5 - 6.8 6.0 BE ik |EER-
3A] Bh 4.0 135 - 6.0 45 BE - |BES -
4FRIFIER
oH DO COD |XBEHHE |h-~FHUH 2L=TH EX ]
(mg/1) (mg/1) | (MPN/100ml) | EH¥I & (me/l)]  (mg/I) (mg/1)
RElE| 1.8~83] 5.0LLE | 30LLF — JEiR H — —
EE(75%1E) = 8.1 1.7(1.8) - <0.5 0.21 0.019
55 == 8.2 8.3 1.7 - <0.5 0.20 0.027
= 8.2 7.7 1.8 - <0.5 - -
s hE - - - - - - -
of == 8.2 7.1 1.3 - <0.5 0.23 0.010
hE - - - - - - -
118 == 8.2 8.2 1.7 - <0.5 0.19 0.021
hE - - - - - - -
1A == 8.2 9.3 2.0 - <0.5 - -
hE - - - - - - -
3H EAE 8.1 8.2 1.8 - <0.5 0.22 0.017
e - - - - - - -
BEIEE (REDHEHAD
ISP INESS S A NE/RL|  #MFE fikéR |7L*LKkER| PCB
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| Z#EfE] 0.01LLF | JE#H | 0.01LLF | 0.05LLF | 0.01LLF [0.0005L0TF | JE#EH JERH |
E <0.002 - <0.005 <0.02 <0.001 <0.0005 = =
58] <0.002 - <0.005 <0.02 <0.001 <0.0005 - -
71H - - - - - - - -
98 - - - - - - - -
11 8] <0.002 - <0.005 <0.02 <0.001 <0.0005 - -
18 - - - - - - - -
38 - - - - - - - -
oani| migke [1,2-0900( 1,1-C4an [ zx-1,2-C4(1,1,1-F)40] 1,1,2-ry4a | FJoAA
a2 o IAaY IFLY | AaxTFLY oT4ay oT4y IFLY
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| B (] 0.02LLF [0.00260F | 0.004LLF | 0.02ELF [ 0.04LLF 1LLF 0.006LLF | 0.03LL'F
I <0.002 [ <0.0002 [ <0.0004 <0.002 <0.004 <0.10 <0.0006 <0.003
5] <0.002 [ <0.0002 | <0.0004 <0.002 <0.004 <0.10 <0.0006 <0.003
71H - - - - - - - -
98 - - - - - - - -
118l <0.002 | <0.0002 | <0.0004 <0.002 <0.004 <0.10 <0.0006 <0.003
18 - - - - - - - -
38 - - - - - - - -




Th3o0a0(1,3->4n — . st FARY TN .

(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| BE#E{E] 0.01LLF | 0.002LLF | 0.006LF [ 0.003LLF | 0.02L8LF | 0.01LLF 0.01LLF 10ELF
o <0.001 <0.0002 <0.0006 <0.0003 <0.002 <0.001 <0.001 0.12

5AH <0.001 <0.0002 <0.0006 <0.0003 <0.002 <0.001 <0.001 0.05
1H - - - - - - - -
9H - - - - - - - -
118 <0.001 <0.0002 <0.0006 <0.0003 <0.002 <0.001 <0.001 0.18
18 - - - - - - - -
3A - - - — — — - -
ZTNDIEE
Ix/—) & SS 2EH |(yooks 77;'?;‘|L:\F
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
EHE - - 1 - - -
=R | - - 1 - - -
= - - 1 - - -
7R ; E — — ~ ~ _ _
=] _ _ 1 _ _ _
P ; : : :
=] _ _ 2 _ _ _
E - - < - - -
=] _ _ 1 _ _ _
3A g — — — — — —
R[4 BN . .
(mg/1) (mg/1) (mg/1)
SEBIE] 17000 <0.01 <0.01
58 EE] 17000 <0.01 <0.01
= 16000 = -
= 17000 - <0.01
118 xRE 17000 <0.01 <0.01
= 18000 — -
= 18000 - <0.01
3A g — — —
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St.3 [ER-HEE - _
—RIEE _
Kig (°C)
XiE_[SE(CC) =B P E 2KE 75 0A B iR =Xz R
58 £ 24.0 21.3 - 6.3 4.0 - e |BER-W
78] ®Bh 18.0 22.0 - 145 1.5 BE ZE-X | BER-M
9B8| BEh 29.0 27.1 - 12.0 6.5 - zxE-E |BER -
118 £l 19.0 20.5 - 13.5 5.5 - HE-EEEEER -
18] Bh 12.5 16.0 - 13.5 10.0 BE e |EER-H
38| ®Bh 4.0 13.5 - 14.5 45 BE e -E [BER-H
4FRRIFIER
oH DO COD |XBEHHE |h-~FH M 22X EX ]
(mg/1) (mg/1) | (MPN/100ml) | EH¥IE (me/l)]  (mg/I) (mg/1)
REME| 1.8~83] 15LLE | 20LLF | 1000ELF | JERH — —
EE(75%1E) - 8.2 1.8(2.0) 66 <0.5 0.20 0.016
55 == 8.2 8.1 1.9 - <0.5 0.20 0.022
hE - - - - - - -
78 EAC 8.3 7.8 1.7 130 <0.5 - -
hE - - - - - - -
of EAC 8.2 7.3 15 - <0.5 0.20 0.010
hE - - - - - - -
118 EAE 8.2 8.5 1.6 - <0.5 0.20 0.019
hE - - - - - - -
1A == 8.2 9.2 2.0 2.0 <0.5 - -
hE - - - - - - -
3H EAE 8.1 8.3 2.0 - <0.5 0.21 0.011
e - - - - - - -
BEIEE (REDHEHAD
NP INESIS ) ANEivoL| #ME #ikeE |7rxLkiE| PCB
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| B #EfE] 0.01LLF | JE#H | 0.01LLF | 0.05LLF | 0.01LLF [0.0005L0TF | JE#EH JERH |
E <0.002 - <0.005 <0.02 <0.001 <0.0005 = =
58] <0.002 - <0.005 <0.02 <0.001 <0.0005 - -
71H - - - - - - - -
98 - - - - - - - -
11 8] <0.002 - <0.005 <0.02 <0.001 <0.0005 - -
18 - - - - - - - -
38 - - - - - - - -
oOni| migke [1,2-0900( 1,1-C4an [ z-1,2-C4(1,1,1-F)40] 1,1,2-ry4a | BJo0A
a2 o IAaY IFLY | AAxTFLY oT4ay oT4y IFLY
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| B #E{E] 0.02LLF [0.00260F | 0.004LLF | 0.02ELF [ 0.04LLF 1LLF 0.006LLF | 0.03LL'F
I <0.002 [ <0.0002 [ <0.0004 <0.002 <0.004 <0.10 <0.0006 <0.003
5] <0.002 [ <0.0002 | <0.0004 <0.002 <0.004 <0.10 <0.0006 <0.003
71H - - - - - - - -
98 - - - - - - - -
118l <0.002 | <0.0002 | <0.0004 <0.002 <0.004 <0.10 <0.0006 <0.003
18 - - - - - - - -
38 - - - - - - - -




FhS00(1,3-240 — N FAARY N R
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| BE#E{E] 0.01LLF | 0.002LLF | 0.006LF [ 0.003LLF | 0.02L8LF | 0.01LLF 0.01LLF 10ELF
o <0.001 <0.0002 <0.0006 <0.0003 <0.002 <0.001 <0.001 0.14
5AH <0.001 <0.0002 <0.0006 <0.0003 <0.002 <0.001 <0.001 0.05
1H - - - - - - - -
9H - - - - - - - -
118 <0.001 <0.0002 <0.0006 <0.0003 <0.002 <0.001 <0.001 0.23
18 - - - - - - - -
3A - - - - — — - -
ZTNDIEE
Jx/—)L Vo SS 2mR |soofns| s
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
=E - - <1 - - -
= - - 2 - - -
=] _ _ 2 _ _ _
o —— ; : : :
=] _ _ 2 _ _ _
E - - < - - -
=] _ _ 1 _ _ _
3A g — — — — — —
R[4 BN . .
(mg/1) (mg/1) (mg/1)
EBIE| 17000 <0.01 0.01
58 EE] 18000 <0.01 <0.01
= 16000 — -
7R ; E — — —
= 17000 - 0.01
9H th B — — =
118 xRE 17000 <0.01 <0.01
= 18000 — -
= 18000 - <0.01
3A ] ~ — =
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B LTI HKE,
= HHIE B CODMEE |AGEBIA)| ZEHREFHhEKE (ZOMoXE)
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BRs St.4 B ExR-#ER - _
—RIEE _
Kig (°C)
Xz KR (°C) =B P E 2KE 75 0A B iR =Xz R
58 =l 24.0 21.3 - 15.5 6.0 - e |BER-W
78] ®Bh 17.5 22.0 - 12.0 15 BE ZE-X | BER-M
9B8| BEh 29.0 27.1 - 10.5 6.5 - zxE-E |BER -
118 £l 19.0 20.5 - 10.5 4.0 — ZE-EGEEER -
18] Bh 12.5 16.5 - 9.8 9.0 BE e |EER-H
3A] Bh 4.0 13.5 - 10.5 4.5 BE ZE-E |BER-H
4FRRIFIER
oH DO COD |XBEHHE |h-~FH M 22X EX ]
(mg/1) (mg/1) __[(MPN/100ml) [ ¥1& (mg/D[  (mg/1) (mg/1)
EE(E| 78~83] 755 F | 20LLF | 1000LLF | JEEH — —
EHIE(75%1E) - 8.1 1.8(2.0) - <0.5 0.24 0.015
55 == 8.3 8.1 2.0 - <0.5 0.22 0.016
= 8.3 7.7 1.8 - <0.5 - -
A g - - . - n = .
of EAC 8.2 7.3 15 - <0.5 0.33 0.008
hE - - - - - - -
118 EAE 8.2 8.3 1.6 - <0.5 0.22 0.024
hE - - - - - - -
B EAC 8.1 9.2 2.0 - <0.5 - -
hE - - - - - - -
3H EAE 8.2 8.2 1.9 - <0.5 0.19 0.011
P E = = - - - - -
BEIEE (REDHEHAD
NP INESIS E AfE/OL| BFE kR |7L*LkiR| PCB
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| B8] 001LLTF | FE48H | 001LLF | 005LLF [ 0.01LLF [0.0005LLF | FEHEH JEHRH |
:F _ _ — — — — — —
58 - - - - - - - -
71H - - - - - - - -
98 - - - - - - - -
118 - - - - - - - -
18 - - - - - - - -
38 - - - - - - - -
yani| migke [1,2-0900( 1,1-C4an [ z-1,2-4(1,1,1-F)40] 1,1,2-ry4a | BJoAA
a2 o IR IFLY AaRIFLY axT4ay axsy IFL>
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| B (] 0.02LLF [0.00260F | 0.004LLF | 0.02ELF [ 0.04LLF 1LLF 0.006LLF [ 0.03LL'F
:F _ _ — — — — — —
58 - - - - - - - -
71H - - - - - - - -
98 - - - - - - - -
118 - - - - - - - -
18 - - - - - - - -
38 - - - - - - - -




FhS00(1,3-240 = s seq ~2 TN .
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| B#E{E] 0.01LLF | 0.002LLF [ 0.006 LF [ 0.003LLF | 0.02LLF 0.01LLF 0.01LLF 10LLF
SF — - — — — — — —
5H - - - - - - - -
718 - - - - - - - -
9A - - - - - - - -
118 - - - - - - - -
18 = - - - - - - -
38 - - - - - = - -
ZTDMIER
Jx/—)L Vo SS 2mR |soofns| s
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
RE - - 2 - - -
L  —— —— ' '
z - - < - - -
e L e — T — ' '
B — — 2 — — —
gﬁ ;E _ _ _ _ _ —
B — — 2 — — —
B —— ' '
= - - < - - -
. a——— —— ' '
=] — — 1 — — _
3R g — — — - — —
alch | BEEE | omene
(mg/1) (mg/1) (mg/1)
FHE] 18000 - 0.01
58 xRE 17000 - <0.01
= 16000 - -
78 ; E — — —
= 17000 - <0.01
= 17000 - 0.01
118 ;E — — =
= 18000 - -
= 17000 - <0.01
3R g — — ~



